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[bookmark: _GoBack]Thickness of glass block                     1.82cm2d.p(1mk)
RESULTS
	Number of glass blocks used
	1
	2
	3
	4
	5
	6

	P (cm)
	1.82
	3.64
	5.46
	7.28

	9.1
	10.92

	 Q (cm)
	1.2
	2.3
	3.5
	4.7

	5.9
	7.1


   (9mks)
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i)         Draw a graph p against q                                                                    (5mks)
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j) 	Determine the slope of the graph                                                     (3mks)
      =ΔP/ΔQ
       = (7.3-1.8)/(4.7-1.2)
        =1.57

k)   	State the significant of the value in (j) above                                  (2mks)
· Is the relative refractive index of glass with respect to air
· Award 1mk for those who state it as refractive index of glass 

2) 

[image: ]

Mass of wooden block X= 0.2N                                                                                (1mk)

RESULTS
	Weight of wooden block plus the masses on it(W1)  in Newtons (N)
	Weight of paper bag plus sand (W2) in Newtons

	0.2 + 0.5 =0.7
	0.4


	0.2 +1.0 =1.2
	0.6



	0.2 +1.5 =1.7
	
0.8

	0.2 +2.0 =2.2
	1.1


	0.2 + 2.5 =2.7
	
1.4


                                                                                                                                                                  (10mks)















a) Draw a graph of weight of paper bag plus sand (W2) against weight of wooden block plus the masses place on it(W1)                                                                                                    (5mks)
[image: ]

b) Determine the gradient of the graph                                                                              (3mks)
    =ΔW2/ΔW1
      = (1.1-06)/(2.2-1.2)
      = 0.5

c) State the significance of the value obtained in (j) above                                              (1mk)

· It is the coefficient of friction between the  paper fixed on wooden  block and the glass surface
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                                                                                                                      Observer            Figure 1       Clamped Optical pin (search pin)              Apparent position of object pi n       Retort   clamp   Q          bench                                                                                 P           Glass block                                                                                                                       Optical pin (Object  pin)   Rigid support (e.g a stool)  
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           Figure 2         Paper bag     Bench   With sand     Wooden block X     Heavy support   Glass  slab     Fixed frictionless pulley     50g - mass      


